Friday March 10, 2006
In Lecture quiz #7, Physics 131
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The object aboveisa“simple” pendulum, namely amass M =1 kgona
massless rod of length L = 1 m, free to pivot around point P. The size of the
disk of mass M is negligible compared to the length L. The coordinate
system (x,y) isjust for reference.

1. What isthe value of the moment of inertia / of the pendulum around
point P?

Answer: [ = ML’ = ] kgm®
2. How much torque 7 (don’t worry about the sign) is gravity causing
around point P at the instant when the pendulum is horizontal (as

shown)?

Answer: z=rL F=L Mg=98Nm



